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11. 3 ufEgl Rrd A ve s e ufd e 3m g1 11. Two clocks in which one is ahead by 5
wrdt 8 MR gudt 7 e wfa ger ¢S 81 &t 8  minutes per hours fast and second is slow by 7
at gt %mﬁﬁﬁ fi=re T 3@ &1 minutes per hour to their normal time. Then
WM gfe 39 & gd9 # U 8§ 9T YT what will be the time difference between two

firen &3 T@T T B < MIN _ clocks after 4 hours? If both are configured by
~ « > AT
&% ~7 vl I same time at present?
(a) 45 fA1. é* X ) 1 AX A= C@ m
ﬂuﬁl T74+5=19Q Wi (a) 45 min.
)8y (b) 48 min.
(d) 28 ﬁ:. (c) 8 min.

(d) 28 min




(Clock) ,

12. U% afd 30 firy & e wgeht ar quer 4 4 person came at 12:30 noon to meet his

12:30 T ATALGERN AR 1:20 T AT, T friend, first time and second time he came at
WQL'QWWMWQ STATI 98 1:20 and third time he came at 2:30 o clock and
f5R Fa freR s |19 3, <o TN fourth time he came at 4o clock. When will he
. ‘ SR L%
e 7 . F26 come to meet again? -\—\—~
Al S0 ') S

a) 5 T QS s | A o min.

b) 4:50 I 4_ " So 90 ™ a) 5 o'cdock
%ﬁﬁ T . ’\-g?b b) 4:50 o'clock

o
d) 5:10 ¥ g ) 5:50 o'clock

/‘___/———- d) 5:10 0’ clock




T® gudt ud g% 24 W@ A 2 e A9 §t et B
fadry aror ST ufdal v & g Rad 2 1 ok
uel arelt w3t &1 IFav By, ot Fuffea syt 4 |
BI-AT W 8 TN
>‘{\3oﬁ=q} w gt ufdat i
ﬁaﬁﬂil%\:yg( ﬂm = 4_..;(1-‘:“
7@ 90 f71 ¥ ¥ W I ufdal v # wwy
feardt g |
ﬂuoﬁ?tf\'ﬁ#waﬁmleﬁ

feardt 81
%Mﬂﬁﬁttﬁwﬁ?ﬁh
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(Clock) ,
1. U U3 §Y 43 ue # 2 fiyae dift gt et B wafe

1. A watch loses 2 minutes in every 24 hours while another
watch gains 2 minutes in every 24 hours. At a particular
instant, the two watches showed an identical instant, the
two watches showed an identical time. Which of the
following statement is correct if 24 hour clock is followed ?
a) The two watches show the identical time again on

completion of 30 days.
b) The two watches show the identical time again on

completion of 90 days.
c¢) The two watches show the identical time again on
completion of 120 days.
d) None of the above statements is correct.
UPSC 2017












E (Clock) ,

e g clock and thrice at 3 clock and so on. If it take

THPT 9T AR} Ygdl 81 afe 5 a9 sHS! o ,
: 12 seconds to strike at 50 clock, what is the
ﬁnmmﬁ,eﬁwﬁgﬂmﬁ time taken by it to strike at 10°0 clock.

wmEm < GRATACTIE | 2o

\ \Q 2o a) 20 Seconds

(a) 20 §FS 9 5 b) 24 Seconds
_pr24 9FT ‘5 3 AOX > ) 28 Seconds.
(c) 28 WpT s X 9{’%}(1 30 Seconds.

(d) 30 AFE

UPSC 2017
UPSC 2017
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3. T el qaie ":mﬁmm%m 3. \Agcla::*'s?arts at 11:00am and lasts till 2:27
TR 2 :27 T WATA Bt & | 3 ST |
IR A Jafy ¥ difvas g 81 vde difvas
& a1 ol @t 5 e &1 Ry R smar 2 1

e fifvas 3t Ste-die safy fat 2

pm. Four periods of equal duration are held
during this interval. After every period, a rest
of 5 minutes is given to the students. The exact

duration of each period is.

/ \| — \2"

/‘G ::: ; a) 48 minutes \’\L o 3«0\X60
L A min b ofic :2 803“
3 ot flhien b) 50 utes \ N

¢) 51 minutes

d s3fime , ;‘?07 min,

d) 53 minutes
UPSC 2016
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(Clock) ,

4. JWTE 6 T A 7 99 & 7 {59 w0y, [ 4. Between 6 PM and 7PM the minutes hand
wd # fre 3 gE 92 ¥ g€ AE M AT of a clock will be ahead of the hour by(3)

gt _ﬂ_m-_ 0% H@ A minutes at
| fn— & DPego
a) msns—‘;-'{m“—%@(é"'\a a) &15PM 2 | - ;
b) 3URT& 6:18 || L~ \&o—Hg b) 6:18 PM XG:B_

6:36 PM\——

-;&GNWGSG ” \9& c) 6:
d) FWTE6:48 2 ‘xa%xl ,_: 6:48 PM
m:/?upsc : UPSC 2015




e hour and minute hands of a clock
move without jerking.
The clock shows a time between 8’0o clock
and 9’0o clock.
. The two hands of the clock are one above

' i ' the other.
Mﬂ ﬁﬁ? (ﬁm ‘I"'f") qiq Z}‘ﬁ 54l % & After how many minutes (nearest integer) will

AR UPH-gH & S gt t!;: t\;vo hands be again lying one above the
a) 60 Y other 5
b) 62 a)

% 65 b) 62
d) 67 \F —A) 65

UPSC 2014 d) 67
UPSC 2014
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(Clock) ,

6. Wﬂﬁﬂ 18 ﬁ'ﬂ?ﬂ'\'ﬂiﬂ?l wwm 6. A bell rings every 18 minutes. A second bell
& 24 fiFe W awrdt 21 Wiﬂﬂ'ﬂﬂ'&ﬂﬂ 32 rings every 24 minutes. A third bell rings every
fir-rzwmiﬂt lﬂfaﬂiﬁﬁmWﬁ 32 minutes. If all the three bells ring at the
WUy ¥ [YaE 8 T gurdl g, a1 gk P9 W W

same time at 8 o’ clock in the morning at what

3 ot o wy Tt other time will they all ring together.
a) 12:40 T a) 12:40 hrs
b) 12:48 T b) 12:48 hrs
¢) 12:56 9 ¢) 12:56 hrs
d) 13:04 T d) 13:04 hrs

UPSC 2014 UPSC 2014
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